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Taylah Robertson participate which category of boxing in 21 Commonwealth games held
during 2018 at Australia

(A) 55 kg weight category (B) 60 kg weight category
\% 51 kg weight category (D) 50 kg weight category
2 HCralureder 2018 oyib e perL QuHD 21aug SMoebles Gumliguile) Cgeom Frumgen
58 sameL Gum_iguier ahg Gfefld swbg Clamemmmi?
(A) 55 &Cer ereni_ Gley (B) 60 &G eren Giley
(C) 51 &Car eranL Gflay (D) 50 ACer erevL 9fay

When was the “Earth day” first celebrated?

(A)  April 21, 1969 &~ April 22, 1970
(C) April 21, 1971 (D) April 22, 1972
‘el prar pseller eTiGLITE) CameRTLm UL L g|? ‘ |

(A) 1969, guge 21 \ (B) 1970, gLuyev 22
(C) 1971, guged 21 (D) 1972, giaged 22

The Indian National Trust for art and cultural heritage celebrates Heritage Week in every
year between

(A)  19% — 25t September (B) 19t — 25t October
W 19th — 25th November (D) 19th — 25th December
s PO seTEETISHe dgTammw QaTarTHb elsnns QiHwu Cslw seme LHMID STEETY
SiGpLOLIL| STTLITS @eu@au(h euLAPLD S g SGLD QUL 6T8)?
(A) .19 - 25 Qg burm B) 19-25 H56CLmui
(C) 19— 25 peubui D) 19— 25 g&bur

During the year 2018, in Tamilnadu the hike in bus fare was reduced partially and
implemented on

W 29% January 2018 (B) 20t January 2018

(C)A 27th January 2018 (D) 24th January 2018

sllpssde 2018 @@ Hnss S@LEFIULL  LU6D S L6wLDd -LSQfUTGLb G@D&ESILLH
SIDOTESLILILL BTET -

(A)  mamaufl 29,2018 (B) mavaufl 20,2018

(C) geeufl 27,2018 ‘ (D) gemeufl 24,2018
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9. In which year Basket ball was 1nvented’7

M 1891 : (B) 1894

1899 D) 1991
b e () sl LiLbg) ellenemum(H Camembluig)?
(A) 1891 (B) 1894
© 1899 ' , (D) 1991
6. How many days, Prime Minister Narendra Modi sets a deadline for government departments

to resolve public grievances?
(A) 30 days (B) 45 days

% 60 days : : (D) 175 days

Qurrgy waseflBlmbg QuDLLEHD G@psmar Siés s sopsEsse Grsoi pCrHSr Gomg eAdss
&M&CS[H eTHSMmaT Bl saT?

A) 30 priser ' (B) 45 prisar
(C) 60 pr sar ; (D) 75 pm st

7. Which satellite was carried by GSLV-FO08 launched by ISRO?

GSAT - 6A i i (B) GSAT-6B
(C) GSAT-"7A (D) GSAT-6C
ISRO -aflenmed glleraveredadl - era'sts 08 pr&@sL. epaid eflairenfler rauliu L QewihenssCarar eTg)?
A)  ger’ — 6e (B) gem—649
©C) Hanl —Tg D) Ham — 6¢ﬂ.
8. At what rate of speed, our brain sends the messages?

(A) 250 kmph (B) 275 kmph

" (©) - 350 kmph @ 375 kmph
BLOG) eLPEHGIT g,e;mma) ahg Cous Nlflgsdler aiLdms?
(A) 250 kmph (B) 275 kmph
(C) 350 kmph ’ (D) 375 kmph

CEG/18 4 2 | B



10.

11.

12.

Which planet is not a inner planet of the following?

(A) Mercury (B) Venus

(C) Mars ' W Jupiter

QemmeumeuaeuhmiaT 6Thg Hsid 2 61 Hrsid Sice?
A) user - (B)  Qeusrafl
(C) Qeeusumis : D) ewmper

Which proportion the Pakistan and India divide the total water of the Indus system?
A)  50:50 (B) 60:40 : i ‘ -

(©) 70:30 W 80:20

@iHwr wHmb urdlevgrer prH&ErsE Qe Guwrer Abg B B LS. Nfgrésmbd ereuciare?
(A) 50:50 (B) 60:40

.A(C) - 70:80 (D) 80:20

Prothrombin is found in blood and is related with

(A) Initiation of heart beat Blood clotting
(C) Blood agglutination | '(D) Blood pressure
@uréssde o erer LCyrymbiien eTaenL e QT L wg)? |

@) @sughliou geasesd ~ (B) Qrgsdempsd
©) Qrssd @Bsd D)  Qrés 2AwssD

In mammals, prolactin stimulates the production of
(A) Progesteron
(B) Mucus in the digestive tract

(C) Digestive enzymes in the small intestine

W Milk

urr@_m'_qa;a‘ﬂei),‘q(‘?mra)rr&qdr gram(Heugme 2 HLSSHumeg)
A)  yCrrQgev Grmeor

B) eawreyls urengule Camenp

C) SAnpELe Qaflorer Aprs
D) ume
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13.  Who among the following have held the office of the Vice-President of India?
[ *Mohammed Hidayatullah
2. Fakruddin Ali Ahamed
3. Neelam Sanjiva Reddy
4. Shankar Dayal Sharma
Select the correct answer using the code giiren below :
(A) 1,2,3and 4
1 and 4 only
(C) 2 and 3 only
(D) 3 and4only

Spsaam_aiisail Qb giomens @igwirss smaeuisarns Lgsed eufgseuiaer wmi?
1. wpswg adgwgeerr

2 o olI&HS6 3160 N&LOF

3. B s@pfeu Qg

4 SBIGIT SWITET FTLOT

Spssar GHlUGsdieo Qmbs sfwurear uHme Caib0sHaEsaLD.

A) 1,2, 3wpmw 4

B) 1 wpmd 4w Hb

(€)' 2 whmid 3 w_Hid

(D) 3 wpmyw 4 v Hbd

14. District Rural Development Agency was formed in the year

A) 1978
G 1980
(C) 1982
(D) 1984
LDITQUL_L_ 26178 GUETTES] (D&MD 2 (HEUTESSLILIL L e ()
A) 1978
(B) 1980
(©) 1982
(D) 1984

CEGNS8 . 6



15.

16.

Assertion (A) : The device of Adjournment motion is not used by the Rajya Sabha

Réa:?on (R): An Adjournment motion does not result in removing the Government from

office
(A). Both (A) and (R) are true and (R) is the correct explanation of (A)

M Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C)  (A) is true but (R) is false

(D)  (A)is false but (R) is true

gapm (A):  @sSmeuiys Siorerbd wrHlonisaraewrd LwaU(BEsrLHeug S wng
smrewrd (R) : @sdeveuliyg Siomeand Spemhissamgis ugeluid @) mbg Sisnneuddme
A A wppd (R) @rear@in sfl Cogid (R) eremug) (A)ellen sflwrer eflergswomsb

B) (A wombd (R) @rar@®id sfl germmed (R) eremugy (A)efer sflwimen eflenésid ojeven
©) (A vl sfl yeame (R) seupr@id

D) A saum game (R) #flurgd

Consider the following statements with reference to constituent assembly. Which of the
statement is correct?

L Mahatma Gandhi is not a member of Constituent Assembly
II. Dr. Rajendra Prasad was elected as President on Dec. 11, 1946

III.  Under the Cabinet Mission’s provisions, Constituent Assembly was established

IV.  Constituent Assembly executed only the National Flag not the National Anthem

Ay Teatly @ L II and IIT only
(C) II.and IV only (D) L 1II, III and IV only

@rdwu  rflueemoly  Hliferw  Foudar eursfugms sealsseb. &G GO [Herer
aursHlwnisafley ergl/erancu sflwimeareneu?

L w&TSLT &THE QBHSW ATSlweenoli Hirarw semuullear 2 pilibenT e

1113 Sflwe Hliewrw seouwlear gmeoeurrs LrsLT @Crrepdly Ggsrg webur 11, 1946
CambOlsH&suL LT

II. erdwue Hliammwu semu, CaQant Wagen STOTATSSTED 2 (HeuTssUuL L g

IV. Gsflu Qsmgew wl G rflud Hiamrw gou goms Qsram g. Csflu Essms Tnmé

Qsmerareflbenen
A ITwvl@pw B) I, II wpmw III i Hid
(©) II wpmbd IV bl Hibd : (D) L II, III wpmbd IV wl @b
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19.

20.

o 3

Match List I with List IT and choose the correct answer from the codes given below :

List I - List II

(a) NITI Aayog L 15.03.1950
(b) National Development Council 2. 22:11.1951
(¢) Finance Commission 3 01.01.2015
(d) Planning Commission 4. 0é.08. 1952

(a) (b) (© (d)
@A 2
B) 4

W W N
= N W s
B S ES00

D) 1

utiqwe I olgue II oiear Qurmpsd, sflwuren elevrew ECp GQar@ésiul(Herer
&RIGsNfnhE CoibsE.

uiguied I UL 1q WI6d II
(a) M Curs Vel 508.1950
(b) Csdlweueriddls gy 2. 22.11.1951
(© MHds@w 3. 01.01.2015
d) HsEw 4. 06.08.1952

@ ® © @

A 2 1 4 3
®B) 4 ghni g 1
)3 4 2 1
D) 1 3 4 2

Who was the Chairman of First Planning Commission in India?

(A) Dr. Manmohan Singh W Jawaharlal Nehru
(C) V.P.Singh (D) Morarji Desai
QidHureder 1pge S L Gpelilen sameaauit wiir?
(A)  Dr. wenGuomsen A B) maaniard Crm
(C) V.P.&m (D) Qumyrirgd Ggami
g9 : CEG/18
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21.  Arrange the following in chronological order :

I. Bombay Presidency Association
II. London Indian Society

III.  Mahajan Sabha of Madras

IV.  East India Association

@) IV,ILIL I ® L IL I, IV
W7 ULLILIV ®) ILIL IV, T

&Gy QarésuulLeaunemn srosfrsons euflomsuHése :

L LmbGU LomaTesT S|ELOLILY
II. oarn_ar @pHu Qerenst iq
III. Qi grev wammer FhsD

IV. dpsdlbdu oCardlCuisen

A) | IV, IIL 11, 1 B LILIILIV
(@ - 0L LMLV D) ILIILIV,I

22 Who were called as Fathers of Congress?

L Pethick Lawrence

I1. A.O. Hume

III.  David Yule

IV.  William Wedderburn

¢ 1Iand IV B) Il and IV
(C) TandII (D) 1II and III

SIS TS SHES TeD DAMPESILHLIGUTSET WmeuiT?

. Qusds ewmrpeev
II. A.O. aflyd
III.  Grefi wyed

IV. efevedwib Qeur L et

A) I wpyo IV B) I wpmib IV
©) TwpgodII D) I wpmib ITT

CEG/18 10



23.

24.

25.

Chemical name of Teflon is
(A)  Poly propylene
(B)  Poly Acetylene

W Poly tetra fluro ethylene
(D)  Poly Vinyl alcohol
Quiiemer eremugen GCoudlls Quwir?
A  ured yCymQeSerr
B)  umed & iqeSer
(©)  umell Qui_gmyenCrm ergdeSe
D) umelleflenared dsanTed

The compounds which have back bonding are
(A) Metal nitrates '
(B) Metal carbonates
W Metél carbonyls
(D) Metal oxides
YenGanré@, enamTiienLl 2 awTL_&ELD CFTomisET
A) 2 Cors anpl_Cri(haer
B) 2 Gors srruCarn_(Haser
(C) o Cers sriuemeaTaSeT

D) 2 Cors ysamahHser

The ozone layer forms naturally by
(A) interaction of CFC with oxygen
\M interaction of UV radiation with oxygen
(C)  interaction of IR radiation with oxygen
(D) interaction of oxygen and water vapour
- @upesuid @GsTer Lt_eLb 2 (Heurss STeTid
(A) CFC s8lman e @eanLui(h ienL_eusmed
B) UV sflirser 2,68naiL6r @ ui(h L _augmed
(C) IR sditser ysslmaL e Qe ui( e eusme
D)  &sAger BrmeflujLer @enLui(H jenLcugTed

11
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26. Match the following :

(a) B carotene 1. Cereals
(b) Copper 2. Pappaya
(¢) Iron 51 Mushroom
(d) Selenium, zinc 4. Pulses
(@) (b) (© (d)

Aa 1 3 4 2

' 2 3 4 1
© 3 4 2 . 1
D) 4 3 2 1
SpsaT_cupenn QUIMH5Ss.
(a) p sCpmiigen 1. sreflukiser
(b) Qawy 2.  uldumrefl
() @mwy 3t 5rrmrrcina;c;"n
(d) Qedllafwbd, gsgpran 4. umOY

@ ® © @

@) 1 3 4 2
®) 2 3 4 1
©) 3 4 2 1
D) 4 3 2 1

27.  During centrifugation, which one of the following will settle down at last
(A) Nuclei

M Ribosomes .

(C) Mitochondria

| (D)  Chloroplast

anwpweiladse wpanpuier CLimg &Q&G&TL_QJ;I')@@ 6T HL_EWINS Lilg WLI&H&n lq WG|
A)  Hyselis

B) MACGurCGsmbd

(C) ewl G sraumgMwr 7

D)  ECemmCrmAermevr

CEG/18 , 12



28.

29.

30.

31.

Which Pallava King was the patron and follower of Tirumangai Alwar?

(A) Simha Vishnu (B) Parameswara
(C) Narasimha M Nandivarman II

| GThS L6 et H(HLOBIMS pPeUTenT S MSS euary IE]@TL][D[]S]U_IQJI:TV?
(A)  Sibw eleigem) - (B)  upCuweveurer

(C) mrélbwer (D) @rerrmb pHSleuroen

When was Pandit Ravisankar honoured with posthumous Lifetime Achievement Gramniy

award? :
a) 2011 (B) 2012
7 2013 D) 2014

ahs pam® uengl pellsmsnEd, Q@puusGUder Agmbl  emppreT FTg@menuTert 6Hlms) -

GUPBISLILILL §)?

A 2011 (B) 2012
(C) 2013 (D) 2014

Which Delhi Sultan Introduced Market Regulations in India?

(A) Kutb-ud-din Aibak P Ala-ud-din Khilji
(C) Muhammad-bin Tuglugq (D) Ibrahim Lodi
&b GLcvell segmer, @bSuimeller ik g mss5ms eHuBHSHenmi?
A)  GsUSaT SiiLE | B)  sierasd S
(C) sz Gen gi&ers (D) @uyrélib Geomg.

Who lived in the court of Muhammad-bin-Tugluq?

(A) Alberuni (B) Ferishta
" IbnBatuta (D) Nuniz
&g e gisensdlen au&sﬁ@u&]@ Qmpgeu wmi?
A  sQumentl B) QuflegLm
©  Querugigr D)  Byeflsv
13 | CEG/18
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32. If20% of A =B and 40% of B = C then find 60% (A + B)

(A) 30%of C (B): 60% of C |
(C)  75%of C ' W None of these

A-ar 20%=B wppib B —an 40%=C araflé> (A + B) —éir 60% sreir

A C-e130% B) C—er160%

€) C-en75% ) D)  agaSdma

33. A rational number is such that when we multiply it by 5/2 and add 2/3 to the product we
get —7/12. What is the number? .

@ -3/2 | B) 3/2
©- Y2 & _12

om Afswpn aarmear 5/2—0 Qu@mED @D QuEssSHUOEILET 2/3mE sl gamd — 7/12
e L_&@ eTafler DeuaHFpm ereuwr erg)?

Q). '~ 3f2 B) 3/2
© 12 ‘ D) -1/2

34. A pie diagram is with dimension

(A) one (B) three
M two (D) four

Qeul_(hggienr® (pie) euenruLgHlen Lflwmawrid erisemen?
@)  gam B) e
© @uewr(p (D) prenG

35. (0.756 X %) is equivalent to

A) 18.9% B) 37.8%
56.7 % D) 75%

(0.756 X %) & SOLDTETG)| TS| ?

A) 18.9% B) 37.8%
(©) 56.7% D) 75%

CEG/18 14 B



36. In how many years will a sum of money double itself at 18.75% per annum simple interest?

(A) 4 years 5 months

% 5 years 4 months

(C) 6 years 2 months

(D) 6years 5 months

umLEHDG 18.75% eremp eraflu ey elflssded, Qsranswnearg adsmer eumLRIGED
@rigium@Lb?

(A) 4 eu@mLiiser 5 rgmhigeT

(B) 5 eummLruser 4 wrgmiseT

(C) 6 eu@pLraser 2 LISRIGET

(D) 6 eu@pLiiser 5 rgmisET

37. The compound interest on Rs. 30,000 at 7% per annum is Rs. 4,347. The périod (in years) is

M 2 years

(B) 2% years

(C) 3years

(D) 4 years :

5. 30,000 eremp Qsreanss@, <@g HE 7% sl B eully eldssHd erssman yamhsaia sl H ey
e 4,347 ,@W0?

A) 2 yarpHser

B) 23 Haw@ser

©) 3 yearpsar

D) 4 gyean@pser

38.  Inan equilateral triangle whose side is 3v3 cm, the length of its altitude is

M 4.5 cm (B) 5.5cm

(C) 10.3cm D) 9.6cm

é_u@ &0USS WPECHETETSHE LSS 36T6 3V3 Qs.18 craflér g GSSITSI G 2 6T6 GTETLIZ
A 4.5Qs.8 - (B) 5.5Q@s.5

(C) 10.3Qg.8 (D) 9.6 Q&5

B 15 CEG/18
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39.  Among the four answers figures, which can be formed from the cut-pieces given below?

gV

A) ‘ ’ \M

©) @)

s prang ellenL_ssmen .I_ll_lE.d&SGTﬂG'l) @bs prenE Qeul LUl L gamhsmer Qurmsdleame erg

FRwrg @) (HéEWD?
(A) : ' B)
© : D)

CEG/18 16 B



40.

41.

42.

Solve :

G plin—iCsh ab——ac
(A)  bcacb

(B)  babce

(C) abcbe

W ~ acbcb

&

C——bba Cab——ac ab
(A) - bcacb

(B)  babce

(C)  abcbe

(D) achcb

A hemisphere and a cone have equal bases. If their heights are also equal, than the ratio of
their curved surfaces will be

A 1:2
B) 2:1
€ 1:42

\M v2:1

R S@rsCamerapd, sabLb @Cr SiglILEEEmS Qasrram@mmm <jeum e au_uj(g)u) &0 erafled -
Seupdler euanarurLiGer 6N ereren?

A 1:2

(B). :2:1

€ 1:42

@ 42:1

If 15;5 =1, then x is equal to :

@) B B) 2
ey 3

15215 = leraled, x —aim L ereimuigy

@A 5 B) 2

© o (D) 3

o CEG/18
‘ [Turn over










47.  Match the book with the corresponding Authors and choose the correct answer :

Book

(a) Exam warriors
(b) IdoWhatlIdo

(¢) Red Birds

(d) A Wasted hour

(a)
1
(B) .3
{0y 4
D) 2

&Cp Qar(REsiul_(Herer Lssamamar Siameusamar @uindlu o Afwir QuwimLer QuTHSSS :

H$ssLD

(a) Exam warriors
(b) Ido WhatlIdo

= N s W

(b)

(¢) Red Birds

(d) A Wasted hour

(a)
A)
®)
(©)
D)

DD W =

(b)

= N s W

(©)

W = N W

(©

W = N B

B0 e

(d)
2

3

3
4

o ol L

Author

Narendra Modi
Jeffrey Archer
Raghuram Rajan
Mohammed Hanif

GG et
BCrBHT Guomg
Qeguurfl Q&
T@GTTD Freges
(PSHLOG QDETLI

(d)

W = N

48.  Which chemical product is mixed in the polyolefins plastic bags?

(A)  Polyvinyl chloride
(B)  Polystyrene
; W Benzophenone

(D)  Polymethylchloride

ureSlGuir@evs s Gemev eremp 1Gammavigd erLisefled QHS QHEGLD FETWLEID 6T8?

A)  urelefenamed GCermeny(H

(B)  umeSlevi_Mew

C) QuenCGemSCGenmesm
(D)  urelQugdHa@Germany(h
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49.

50.

51.

52.

Indian Coastal Guard conducted the regional level marine oil pollution response exercise
during the year 2017 named as '
W Clean-sea-2017 (B) Blue-sea-2017
(C) Clean-ocean-2017 (D) Clean-Blue- Sea-2017
20176 @idw sL_Cery sreud L GgTHHw am@ﬁ]wn@ &L ereveneudle erar@emis &L HSme
5068 s 14.55 LuipAufer Quwir
A)  ssswrear sLe 2017 7 4 B) Bes a6 2017
(C)  ssswrean gpsdHyn 2017 (D) &gswrar e sLe 2017
Who is the Chief Minister of Tripuré in 2018?
(A) Jishnu Debbarama ' \{Biplab Kumar Dev
- (C) Ratalalnath (D) Sudip Roy Barman
2018 y1d pewr® Hflygm wrblegHen apgaeu wimm?
A) gdevey Csliugmor - B) WuGeu @om Caeu
) - U{&,gdreurrsbprrg D) &Hugmi umoer
In which year “Project Tiger ” was launched? A
(A) April 1971 (B) April 1972
W April 1973 (D) April 1974
‘B 1b el eremuigy eriGuimgy Blmieulinil L g? ,
(A) 1971 guge B) 1972 gure
(C) 1973 guge D) 1974 glge
Government declared that those who earned Rs. 10 lakhs per year will be ineligible for LPG
subsidy from?
(A) Jan. 2015 \M/Jan. 2016
(C)  Jan. 2017 : (D) Jan. 2018
et (® eugonand m. 10 @el b o drereurs@Ehs@ 6e.19.89 wraflwib Qup crL'_l(Sur@aS]@‘r_'r;gl 553
@evanav T 2i7a SiMelS55?
(A) 2015 gereur ' (B) 2016 manaufl
(C) 2017 gaweufl : (D) 2018 gaweuf
21 fi CEG/18
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53.

54.

55.

56.

Who is the President of the Congress during Surat Split between the Moderates and the
Extremists? ,
W Rash Bihari Gosh (B) Pheroze Shah

(C)  M.M. Malviya : (D) Gopal Krishna Gokhale

Wgeurdlaer wpmib Sellreurdlaepsdlar Cuiwrear ‘@rs Gere) ghul L Curg srhdreder gamaeurs
@) (BHSeUT WITT? ; '
A) gy Cames (B) QuChrey agm

C) werCGwrger wroewr (D) Carure megenr CaraGe

The Headquarters of World Trade Organisation is in

% Geneva (B) Montreal

(C) Seattle (D) Washington DC

2 & auenila UG SEMQEDWISLD 6TIRIE, SIEMLDHSIETETE)?

A) Ggafeur B) - Qumrer_Mwmed

©) Sumige D)  eurdmer Qsreb@wr wreul L 1b

Indian State Financial Corporations have given assistance mainly to develop

(A) Small-Scale Industries

(B) Medium-Scale Industries
W Medium and Small Scale Industries

(D)  Irrigation projects

@pdw wrble B Hneuambasdr pafwiors erens 2968 msH Qaiiw 2 Haydamen?

A)  Adlw yereflerer Qgmfcsar

B)  pHssT semeflewrar Qgmiflerser

C) pOSsT wHHIDL AFlw ereferar AzmPdaser

(D)  Brurser HiLmiser

In which year Indian Air Force celebrate the 834 Anniversary?

A 2018 (B) 2017
(©) 2016 @ 2015
Qidw eflorears ueamL seang 83eug) aT([H cHlPTEN6 6THS 6T (H Cl&TaTL Mg Wig)?
(&) 2018 ; (B) 2017
(C) 2016 (D) 2015
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57.

58.

59.

60. -

The term chromosome was introduced in

1888 (B) 1887
(C) 1889 (D) 1988
&CrmGLonGenib eram eurigagamw SiPlpsiuBSSw a6
(A) 1888 (B) 1887
(©) 1889 (D) 1988

The most important reason for the decrease of biodiversity is

(A) Habitat pollution ' (B) Introduction of exotic species
(C)  Over-exploitation M Habitat destruction

2 uiflern uFeue Gamneugnarer & PESW STFaTLD

A  amfL wrsur® B) w2 Wflar HHPsLD

C) <ofs sramd D) amf_ =ifley

The Balwant Roy Mehta Committee was appointed to examine

(A) Democratic — Decentralization

(B) Panchayat Raj Institutions

(C) Administrative arrangements for rural developments
M Community development programme '

eraren SMyETSSHENE Laibs Tmi CLSST G HMDESLIULLS!?

A)  wasearm_Sullerer HFH&sTT LFeue

B) uEpsTWSE TR HlmieuEThIEET

(C) Pireurssdler epeold Eimo eueTTESserT

(D) &apsmu Cobur(H ﬁi_l_rﬁja;dT

‘Rule of Law’ is embodied in which Article of the Indian Constitution?
A 12 B) 13

q/ 14 (D) 15

@pdu Sirdweamwinier epg eNSuda ‘s sSlar QL& 2 mmhHgIeTeTg)?

| A 12 ®B) 13

€ 14 D) 15

23 ' CEG/18
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61.  Who was the Governor—General when the revolt of 1857 broke out?
(A)  Lord Dalhousie
W Lord Canning
(C) Lord Lawrence
(D) Lord Elgin
1857 ib e ® Ly &l Qeug 55CUTE SmemLo 4 EHHITS @ ®BFeuT wm?
A)  Leéaneydl Gy
(B) amaflmy

(C)  emrpeme Gy
D)  ervglarn Gy

62.  Which of the statement is correct with reference to The Estimates Committee?
L Consists of 30 members '
II. A Minister is eligible for election
III.  The term of the Committee is 2 years
IV. - The members are from only Lok Sabha

(A) Ionly

W I and IV only

(C) 1L III and IV only
(D) I, II and IIT only
LA HE Guelar aursdunsmen saualssayb : ECp @M Gerar euréduniisee T8I/ eTaneu

sflwrerenay :

L 302 gulenismer Qararg

II. wsHw widlfl 2 piidens CaipEs@ss LMD

L wdUSt Gs Gpelien Lgedl sreb 2 aimL b @yeb

IV. 2 pliQent sieeareumd S soLiufer @mbaisrer Camb@gH&aLBeurt
A) I w @Eo .

B) Twpmid IV wr Go

(©) II I whmid IV wl_@Hid

D) I II whpmid IIT wl_Hid
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63.

64.

65.

66.

The judicial review was originally from
\1 USA ' - (B) Great Britain
(C)  Australia (D) Japan
B Yemymiliey 6T B _ig 60(HHE5 QUL L g)?
(A) <=Quwissr B) @rdorbg

©) <adCredlwm (D) guumen

Telangana came into existence as the 29t state of India in the year

(A) 2013 P 2014
© 2015 (D) 2016
Qzemisrearm @nbdwreler 2968 MHleWrs 2 (Heurear e (H
A) 2013 ' (B) 2014
() 2015 (D) 2016

In India, bank notes of value ¥ 500 and ¥ 1,000 were withdrawn from on the midnight of
(A) 5% November 2016 M 8th November 2016

(C) 10t November 2016 (D) 15t November 2016

@ndwrefe 500 wHmid 1,000 epLimil Gg,nL@é;a;émerr peraflzedled @@Lbl;llll Quim Brer

(A)  peubui5, 2016 - (B) pautbuir 8,2016

(C) meubur 10,2016 (D) meubuir 15,2016

Who was the first chairperson of UIDAI?

M Nandan Nilekani (B) Ram Sewak Sharma
(C) CA.Irani R (D) Sumitra Kulkarni
UIDAlIer apged geneveurt wimi?
A)  pogen HCosTeaf B) gmb é&més &
(C) C.A. gomef D) s&TT GosTal
25 CEG/18
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67.  Match the following :

Finance Commission Chairman

(a) First FC ‘ 1'. K.C. Pant

(b) Fourth FC 2. K.C. Neogy

(¢) Tenth FC 3. C.Rangarajan

(d) Twelfth FC 4. PV Rajmannar
(a) (b) (©) (d)

\( 2 4 1 3

By .1 3 2 4

)3 2 4 1

D) 4 1 3 2

Qurmsgs :
HH& & SEQGUIT

@ wsd HHs Gw L K.C. ups

(b) mrensreug HHs @ 2. K.C. fiGura

(© usgsreug B G 3. C. Qurusgmggen

-

(d) eraﬂ@uaiumrrmg] HHé @ P.V. gprsgwenenmi

A 2 4 1 3
® 1 3 2 4
© 3 2 4 1
®) 4 1 3 2
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68.  According to 2011 census, the density of population in India is

\K 382 persons per sq km

B)
©
D)

324 persons per sq km
267 persons per sq km

117 persons per sq km

2011 <yib e () sewrsGa®H ey @bHwurele waser AsTans L Ts

A) @megy HCor L (h&@E 382 puiigeT
B) omsgr G BLL(héE 324 Buigar
C) emsagiy HCar BLL(héE 267 puigar
D) omagy HCor 5L (hé@ 117 puiser
69. 14 major banks were nationalised in India in the year

(A) 1949
B) 1959

& 1969
(D) 1968
@pHureiier 14 apsememio curdlaar BB enowrésULILL e[
A) 1949
B) 1959
(C) 1969
(D) 1968

70. Open market operations of RBI refers to

)
(B)
7
(D)

A)
B)
©
)

Buying of eligible securities
Selling of eligible securities
Buying and selling of eligible securities

The control of money circulation

@pHw Neiel cutidlufen Qeuells shang Lol EMESET TG TanSE GDISEHDSI?

@GS LI GSEET 6UThI G0
sGSL LW LkiGsmer 6l Hme
g@é\éq@')l_u_l LIBIGSenaT 6HmeILd 6uh@&SeLD

ueTLl Lp&adams sL_(HLUU(HSSIS0
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71.  The first split in Congress took place in the year
(A) 1904 (B) 1905
©) 1969 v 1907
aThS e (h srridlyen s udd g 9ty HuL L g ?
(A) 1904 (B) 1905
© 1969 (D) 1907

72.  Who was the political Guru of Subramania Bharathi?

(A)  Bharathi Dasan ,K Sr. Niveditha

(O) -Sarojini Naidu (D) V.O.Chidambaram
gL mwenflu uryHulen SiFQwed @m wri?

A)  umpdgreen (B) Sr. AiGeudgr

(C) &Cyrhafl pry® : (D) V.0. aswupbd

73.  Which Council Act introduced the separate electorate for the Muslims?
(A) Indian Council’s Act 1861
(B) Indian Council’s Act 1892
w Indian Council’s Act 1909
(D) Indian Council’s Act 1919

eTbg seyandle &L 1b @evemblwiserss safl aurssrart Agr@Hulaman oiflwsiu@sdug?
A) @pdHu seyendle s L1b 1861 '

B) @BHu seyandled s L1b 1892

©) @pSu sajEmdd st Lib 1909

D) @pdHu seyandled s L1b 1919

74. Who defeated Nana Saheb?

" General Havelock . (B) General Nicholson
(C) Campbell (D) Neil
wrerm FrGasL m;rurrsb CampaigsaLLmi?
A) Qgame Cansuers ‘ (B) Qgaye Hlésasen
(C) GasbuQue (D) fea

\
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75.

76.

Match the following correctly :

Scurvy

(a) r.l‘hiamine 1.

.(b) Ascorbic acid 2 Rickets
(c) Calciferol 3. Beriberi
(d) Tocopherols 4. Sterility

(a) (b) © (d)
@A) 3 4 2 1
B 2 1 4 3
M 3 1 2 4
D) 4 3 2 1
&g’pé;a;ml_ajgbeu;g)é sflwrals QurSs)s.
(a) swmblen 1. evsimell
(b) sevasrmis e 2. M&sev
() srfQuyme 3. QuflQuf
(d) CrrCasrQuimeev 4. woL(HSs6mend

)
®)
©)
D)

(a) (b) (© (d)

- W N W
N N BN
— s W

Plants and animals living in a area constitﬁtes

)

Plantation

W Community

©)

(D)

Population

Ecosystem

STEUTEISEHLD, sﬁwréjaﬂmrﬁas@l.b awdlsEb QL AsTEdurans

A)
B)
©
D)

Casm L UGS
FpsLd

G -
Gy AsTEUY

29
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74q. Vanamahotsava or festival of forest was created by
(A) Raja Ram Mohan Roy
(B) Dayananda Saraswathi
(C)  Annie Besant

M Tagore

auanoGargsaild (<) srHsafer Smefpm wmymed o (meurdsiu L g)?
(A)  gmggm gmib Guomsen Fm
- (B)  purenbg srevaud
C) eamalQugs_
@) s

4

78. Which Bhamini Sultan declared ‘Jihad’ against Vijayanagar?

W Yusuf Adil khan (B) Humayun
(C) Muhammad Shah (D) Nizam Shah
e umblafl seogren eflgubsmse adyms Lalgl Cunt QsrEssmen?
A) wel Sige smen (B)  ammwmyyerr

(C)  @pswg agr (D) Hlembd agm

79. Through whom Krishnandeva Raya imported Arabian Horses?

(A)  Dutch (B) Danish

(C) Irish : M Portuguese

Wit apeviors §mesamGaeurmui SGriu @Haysmern aurmdanmi

A)  Lsssmyiser (B) CLafley

€) gfay . (D) CGumisgEAuiae
80. Who sponsored Swami Vivekananda to visit Chicago?

(A)  Lord Dufferin | (B) Lord. Minto

M Sir. Arthur Havlock (D) Sir. Elihu yale

a;aJrrL& Gausranbgit HarGar QedeugnE 2-geweu wmi?

A  cufer Qry B) WewrGLm Qry

(C) & yigrCapeuens (D) & eremard ered
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81. Which state first implemented the Panchayat Raj System?

(A) Tamilnadu (B) Bihar
M Rajasthan (D) Gujarat
UGHEMTUS TTRWS®S WPS6Sle BarL1papliLBéSw wmbleib erg)?
A)  sOpBTH B) Jdeomr .
(C)  grgevgme D) ©Ggs

82. The ages of Vivek and Sumit are 2:3. After 12 years, their ages will be in the ratio 11:15. The
age of Sumit is

" (A) 32years (B) 42 years
w 48 years (D) 56 years
elGeus wpmib &G A @meufler cuwgisatien allflgn 2:3. 12 Y aTH&sEHsEE WG euisaflen
auwg s 11:15 erafler sllsdler cuuwig
A) 32 aumLriser B) 42 eupLruser
(C) 48 eaumLmsar (D) 56 eupLrEiseT

83. A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find the principal

™ Rs. 7,200 (B) Rs. 7,000
(C) Rs. 6,200 (D) Rs. 7,300
@ GHUALL Qgrenswirerg 8% @Lq aisgdla 5 gyam@safle . 10,080 % Hpg. DFDDE HTT.
A) . 7,200 (B) . 7,000
(C) . 6,200 (D) . 7,300
84. X andY and Z can independently corriplete a piece of work in 6 hours, 4 hours and 12 hours
respectively. If they work together, how much time will they take to complete that piece of
work? :
(A) 3 hours (B) 5 hours
©) ‘ 6 hours w 2 hours

X.Y,Z saflssaliCu g Caumamu igés 6 walCorb, 4 waliCprw, 12 wafiChb, adsss
Qamardlement. epeumd Cabg ieuCauameaa (pig&s erelaiere] Crr rHHgis Gameareur?

@A 3 B) 5

© 6 D) 2

B 31 CEG/18
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85. HCFof ?2-d?, ¢*-cd

(A) c+d
e
(©) ¢ =gt
D) clc-d)

2 -d?, ¢® - ed —an 8.Qum.au

Q) c+d
®B) c-d
© A-d?
D) c(c-d)

86. The product of two relatively prime numbers is 35. Their LCM is
B) 8

@ 1
M 35 D) 15

pamsQsrann LsT aansemrar @R earsafar dumEsD Ggrens 35 erafldr seupdean By

Qurg wLRE
@ 1 ity ®) 8
© 35 | D) 15
817. Ifl:—l—:l=2:3:5,thenx:y:zis
x Y R
A 2:3:5 : (B) 6:10:15
() . B5:8:2 , M15:10:6
l:l:l=2:3:5<;nszsﬂsi>:’c:y:zGrsifrug,j
X'y oz
A 2:3:5 : B) 6:10:15
() 5:8:2 | | D) 15:10:6
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88.

89.

90.

Find the volume and surface area of cuboid 16 m long, 14 m broad and 7m high

M 1568 m3, 868 cm?
1560 m3, 864 cm?

(C) 1460 m3, 860 cm?

(D) 1320 m3, 850 cm?

16 m ferapd, 14 m Sis@epb, 7 M 2 wWrpD QsTETL SEESTSSE Ha e ng'pgan urly

sa(H)191q- ' |

(A) 1568 m?, 868 cm?

(B) 1560 m?3, 864 cm?

(C) 1460 m3, 860 cm?

(D) 1320 m3, 850 cm?

A is twice as good a workman as B and together they finish a piece of work in 14 days. In

how many days can A alone finish the work?

@4 11 21

©) 28 ' v DY 42

A eemuauir B-aw smgaib @l Apturs Caumeamw Geleur. Qnauwmb Carbgl ibs

Gaumaens 14 prisefléd apigliumiser. eranGeu A WL B ips Coumamu (PpYés TEF@an HILse

2 GLD?
A), 11 B) 21
(C) 28 (D) 42

If ® is defined as x ® y = x* + 2y, find the value of Pif 4 ® (3® p) = 50

M4 ®) 7

S © 8 | D) 12.5

@ eraip Gewelwreng x @ y = x®+2y oren mmryumma&a&uul_® 4®B®p)=50 a5
G&;rr@a;asuul_l_rrsu P —én gl srers

A 4 B -7

© 8 D) 125

33 CEG/18
[Turn over



91, Find the missing number in the following :

3 |15
11
?
Tl 7
“ B) 12
© 13 D) 26
EC& QarHssurLauphBler el HILL L craTenants STarTs -
3 |15
11
?
T17
(A 5 ®B) 12
© 13 D) 26

92.  The largest 4-digit number exactly divisible by 88 is

sﬂf' 9944 (B) 9768

(C) 9988 (D) 8888
88—6b eu@LIL S sagw WBlsL Quiilw BreinE @aés erar org)?
A) 9944 (B) 9768
©) 9988 (D) 8888
93.  Ais B's brother, Cis B's Father, D is C's Father. Then A is of D.
(A)  Grand mother (B) Grand father

(C) Son M Grand son

A eraueuir B ar sGangrren. C eramueui B Wlen gpens. D eremueui C ulen ShHeng erammmed A eTemueuit
DuQeir

A)  umlg (B) s

©)  wser G curer
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94.

95.

@ 1

X 2
44 5 15

3,11, (86, 01), 58

Fied

S 13
5

126
C o
© 125
Exl_l;(ﬁ H);E_
25 (44 5 ) 15
1
A 1=
A) 5
126
C b~ il
© 125

Match the following :
Currents

(a) Labrador current

(b) Kuroshio current

(¢) Leeuwin current

(d) Falkland current
(a) (b) (c)
B) 2

4
D) 4

N W b W
N W W

QurSg)s :
BCymLrigser

(a) emuyLmi BCrm b

(b) ECrraflCuir FCym L 1b

(0 Sween FCym L b

i

?

(d) Sursombg BCrmLID

(a) ® - (©
@ 1 3 4
B) 2 4 i3
©) 4 3 2
(D) 4 2 1

Sl o

(d)

o = = N

2
& 2
101
e
2
=
101
B . 5

Ocean

South Atlantic ocean
Indian ocean

Pacific ocean

North Atlantic ocean

Cugmy
Qgenm =i _emerig s Guymyl

@pdu Curmgl
udli9s Cugmg

euL ojL_eomairig & Gl
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96. Two spheres of radii r; and r, cm are joined by a thin wire and a total charge ¢ is given to

them. If ¢, and g, be their individual charges, then

A)

o L-1
q:

©)

)

91 =Qq;

Ty
5.5
9 n

1 JLT
¢ =-+and g, =2
q q

wpeopGu 1, wHmb 7, @F.S. yrhsdr CQstar_ @reaw® Csrarisdr @@ Quaw HbGWTD

Qaarssiul () SeupdinE Qurss Wearar L g gruu®dng, g, g,eeruer WwanCw Seubdler

saflgg WOy L migermuder
A q=q
5 ) - .
qQ
() S S 1
9 h

G =—- LPYD gy ==
'g g

97. The nuclei ;C" and ,N' can be described as

M isotones

B)
©
)

isobars
isotopes of carbon

isotopes of nitrogen

¢C? wpmb N fu oassmeser Gaeury elafssiu@dng

A)
B)
©
- D

CEG/18

o CanrCLmenger
e GamumTger
smruefler mCaerCLmliysar

m‘mLugaﬂch pCarGLTiys6er
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98.

99.

100.

Which of the following is not a grassland?

(A)  Downs

(B) Canterberry

(C) Pampas
Gobi

Epsarcupmiar LoGeuaf Sidanss) 6vg)?
A  Leyemev

B) Cser_r@Qurf

(C)  ubumew

D) Csma

Which of the following is not a fresh water lake?
Sambhar lake

(B) Dal lake

(C) Chandra lake

(D)  Wular lake

Spaa_aubmier penatit Ml DiGOTHS 675)?

(A)  smbumrt el

B) sr@gf

(C)  andgmefl

D)  saemri e

Which of the following is not a major port of Inglia?
(A) Kandla '
Kochi

(2))
W Daman

(D) Paradwip

Spasar_cupmer @bSluiredler ygrean FDAPHLD ADOTSF) T8 ?
(A)  seawr_em

B) Qeréfles

(C)  Lmoe

(D)  umysL
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The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.
This Question Booklet contains 100 questions. Prior to attempting to answer the candidates are requested
to check whether all the questions are there in series and ensure there are no blank pages in the question
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within first 10 minutes and get it replaced with a complete Question Booklet. If any defect is
noticed in the Question Booklet after the commencement of examination it will not be replaced.
Answer all questions. All questions carry equal marks.
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response and mark in your Answer Sheet. In case you feel that there are more than one correct
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questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, is the correct answer, you have to mark as follows :

@000

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. After the examination is concluded. you must hand over your Answer Sheet to the

Invigilator. You are allowed to take the Question Booklet with you only after the Examination is over.

The sheet before the last page of the Question Booklet can be used for Rough Work.
Do not tick-mark or mark the answers in the Question Booklet.
In all matters and in cases of doubt, the English version is final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank. |

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.
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